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Parts of a Balanced Chemical Equation

In a water
Reactants Yields solution State (solid)
A

s ~ |
MgCl,(aq) + 2Na(s) — 2NaCl(aq) + Mg(s)
k J

—
Products

Subscript  Coefficients

Equation 1:

2KI(aq) + Pb(NO3),(aq) — PbIy(s) + 2KNO3(aq)

Equation 2:

6HCl(aq) + 2Al(s) — 2AICI3(Aq) + 3Hx(g)
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1. What substances are reactants in located v (L) oF anow

a. Equation1? L-T DL‘(\ () \ b. Equation 2? L‘“C \ \ f\s \

2. What substances are producls in \uvea el 4o @:‘ e

a. Equation 1? pr \ ..l\\,’()g b. Equation 2? )“\T\(\q ~ \.'\'7

. - » . . " L‘ hd sT \ ‘\
3. List the coefficients used in 25 o tn Fort ()jS NOT Shewa)

a. Equation 1? 2 y \ \ A b. Equation 2? b Y R .

4. What substances are in aqueous solution in (4 ,l\.

ol A
a. Equation1? L D» /\10 o WY KA {)'\ b. Equation 2? \l‘.(\ y A\C ' 2

5. What substance shown is a (:\as‘? 3.4..-,
%) -
6. What is the state of Pbl2 in Equation 1? 5(‘)\ \f‘

7. What state is not represented in either equation? _¥Y\oy \\?;‘ vd o v l\\




Counting Atoms
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Worksheet - independent practice (back side)

Count the atoms present in the different compounds by using the coefficients and subscripts.
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